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1. Photosynthesis occurs in 

a. Chloroplast 

b. Golgi body 

c. Endoplasmic reticulum 

d. Nucleus 

2. The optimum temperature for 

photosynthesis is 

a. 25-35℃ 

b. 10-15℃ 

c. 35-40℃ 

d. 20-25℃ 

3. Photorespiration occurs in 

a. Four cell organelles 

b. Two cell organelles 

c. One cell organelle 

d. Three cell organelle 

4. Reduction of NADP occurs in 

a. Oxidative photophosphorylation 

b. Cyclic photophosphorylation 

c. Non-cyclic photophosphorylation 

d. None 

5. Kranz anatomy is found in the leaves of 

a. Wheat 

b. Mustard 

c. Potato 

d. Sugarcane 

6. Peroxisomes are involved in which type 

of reactions 

a. Calvin cycle 

b. Glyoxylate cycle 

c. Glycolate cycle 

d. Bacterial photosynthesis 

7. Photorespiration involves oxidation of 

a. PGA 

b. RuBP 

c. Chlorophyll a 

d. Both a and b 

8. C3 and C4 plants differ with respect to 

a. Number of ATP molecules consumed 

b. First product 

c. The substrate which accepts carbon 

dioxide 

d. All 

9. In Calvin cycle, 1 molecule of glucose is 

formed from 

a. 6CO2 + 30ATP + 12NADPH 

b. 6CO2 + 12ATP 

c. 6CO2 + 18ATP + 12NADPH 

d. 6CO2 + 18ATP + 30NADPH 

10. Where does the light reaction takes 

place? 

a. Grana 

b. Stroma 

c. Cytoplasm 

d. Endoplasmic reticulum 

11. Electrons from the excited chlorophyll 

molecules of PS-II are first accepted by 

a. Pheophytin 

b. Ferredoxin 

c. Cytochrome f 

d. Cytochrome b 

12. Non-cyclic photophosphorylation 

results in the production of 

a. NADH 

b. NADPH 

c. ATP 

d. ATP and NADPH 

13. DCMU inhibits 

a. PS-I 

b. PS-II 

c. Oxidative phosphorylation 

d. It destroys chloroplast 

14. Maximum photosynthesis occurs in 

a. Blue light 

b. Red light 

c. White light 

d. Green light 

15. The first acceptor of CO2 in C4 plants 

is 

a. Aspartic acid 

b. Malic acid 

c. Oxaloacetic acid 

d. Phosphoenolpyruvate 

16. The first product of C4 pathway is 
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a. PGA 

b. DHAP 

c. Oxaloacetate 

d. Phosphoenolpyruvate 

17. The two pigment system theory of 

photosynthesis was proposed by 

a. Aron 

b. Blackman 

c. Hill 

d. Emerson 

18. H2 donor during photosynthesis is 

a. ATP 

b. NADP 

c. NADPH 

d. NADH 

19. The minerals involved in splitting 

reaction during photosynthesis is 

a. Potassium and manganese 

b. Magnesium and chlorine 

c. Potassium and chlorine 

d. Manganese and chlorine 

20. The water-soluble photosynthetic 

pigment is 

a. Chlorophyll a 

b. Xanthophyll 

c. Anthocyanin 

d. Chlorophyll b 

 

21. How many essential nutrients does a 

plant require? 

(a) 15 

(b) 17 

(c) 16 

(d) 20 

22. Which of the following minerals plays 

a major role in energy storage and transfer 

of ADP into ATP molecules? 

(a) Phosphorus 

(b) Magnesium 

(c) Molybdenum 

(d) None of the above 

23. Plants absorb nutrients through their 

_______. 

(a) Roots 

(b) Stem 

(c) Leaves 

(d) Flowers 

24. Which of the following minerals helps 

in improving both the quantity and quality 

of dry matter in leafy vegetables and 

protein in grain crops? 

(a) Iron 

(b) Copper 

(c) Nitrogen 

(d) Molybdenum 

25. Which of the following statements is 

false about nutrition? 

(a) Nitrogen and phosphorus are 

macronutrients 

(b) Plant hormones are nutrients 

(c) Manganese and molybdenum are 

micronutrients 

(d) Nutrition provides energy for carrying 

out various functions. 

26. Which of the following minerals is 

required by the plants in large quantities? 

(a) Chlorine 

(b) Phosphorus 

(c) Manganese 

(d) Molybdenum 

27. Chlorosis is yellowing of the leaves, 

caused due to the deficiency of ________. 

(a) Zinc 

(b) Potassium 

(c) Manganese 

(d) All of the above 

28. The main mode of nutrition in plants is 

__________. 

(a) Autotrophic 

(b) Heterotrophic 

(c) Saprophytic 

(d) None of the above 

29. Which of the following minerals is 

required for the synthesis of chlorophyll? 

(a) Copper 

(b) Potassium 

(c) Nitrogen 

(d) Iron 

30. Which of the following minerals is a 

constituent of cell membranes and nucleic 

acids? 

(a) Zinc 

(b) Potassium 

(c) Phosphorous 

(d) Manganese 
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31. If a plant kept in light with a high 

internal CO2, content transferred to dark 

CO2, free environment then stomata 

will__________ 

(a) First close and then open 

(b) Remain closed 

(c) Remain open 

(d) Open first and then close 

32. Which of the following is fully 

permeable, but does not show 

imbibition___________ 

(a) Cellulosic cell wall  

(b) Biological membrane 

(c) Lignified cell wall  

(d) Suberised cell wall 

33. Which of the following may be helpful 

in phenomenon of night recovery in plants 

? 

(a) Capillary water 

(b) Hygroscopic water 

(c) Chemically combined water 

(d) Water vapours 

34. Find the incorrect statement in relation 

to passive absorption of 

water___________ 

(a) Roots are not essential 

(b) Creates a negative pressure in xylem 

sap 

(c) It is symplastic 

(d) It is dependent on transpiration 

35. Amount of water transpired per unit of 

dry matter produced during growing 

seasons of a plant is called________ 

(a) Transpiration flux 

(b) Transpiration index 

(c)Stomatal index 

(d) Transpiration ratio 

36. Rate of guttation decreases 

in_________ 

(a) Well watered soil 

(b) Soil with good aeration 

(c) High DPD of atmospheric air 

(d) High atmospheric pressure 

37. Which one of the following is a correct 

statement? 

(a) Minerals and water are absorbed 

simultaneously. 

(b) Water is mainly absorbed against 

theconcentration gradient. 

(c) Absorption of water and minerals takes 

place independently. 

(d) Mineral are absorbed along the ions 

38. The action spectrum of transpiration 

is__________ 

(a) Blue & red 

(b) Blue & far-red 

(c) reen& red 

(d) Green & far-red 

39. Transpiration is significant in________ 

(a) Development ol mechanical tissue, 

(b) Increasing quality of tissue 

(c) Decreasing concentration of minerals 

(d) Both (a) & (b) 

40. Transpiration  magnitude is higher in 

smaller plants then larger plants due 

to__________ 

(a) More stomatal frequency 

(b) More transpiration index 

(c) High root/shoot ratio 

(d) Low root/shoot ratio 

41. Which among the following is not an 

objection to the Munch's pressure flow 

hypothesis_________ 

(a) Vacuoles of adjacent sieve tube cells 

are not continuous. 

(b) Rate of flow of water and solutes can 

be different in the same sieve tube 

(c) Phloem transport is not influenced by 

water deficit. 

(d) Injury in the plants cause exudation of 

solution rich in organic solutes. 

42. Food is translocated in phloem 

as_______ 

(a) Raffinose 

(b) Sorbitol 

(c) Sucrose 

(d) All of these 

43. Sugar translocation in sieve tubes is 

a___________ 

(a) Physiological process  

(b) Bidirectional process 

(c) Physical process  

(d) Both (a) & (b) 

 

44. The pressure bomb technique is used 

for measuring________ 

(a) Root pressure 

(b) Tension on water column 

(c) Transport velocity of xylem sap 



 

 
5 

(d) Imbibition pressure 

45. When plant shows wilting of leaves at 

noon and recovery at evening, it 

is_________ 

(a) Incipient wilting  

(b) Permanent wilting 

(c) Mid-day desiccation 

(d) Temporary wilting 

46. The correlation between the number of 

stomata and the epidermal cells per unit 

area is called________ 

(a) Stomatal index 

(b) Stomatal frequency 

(c) Transpiration coefficient 

(d) Both (a) & (b) 

47 . The normal diastolic blood pressure in 

a normal healthy adult human is 

a) 80 mm Hg 

b) 60 mm Hg 

c) 90 mm Hg 

d) 110 mm Hg 

48. ______ is a blood disorder where the 

haemoglobin is defective 

a) Heterochromia 

b) Alopecia 

c) Haemolysis 

d) Sickle cell anaemia 

49. Which of the following two-word 

items mean the same thing? 

a) Blood cancer – Haemophilia 

b) Pacemaker – S A Node 

c) Osteoporosis – arthritis 

d) None of the above 

50. In adult humans, _______ of lead or 

less in the blood is considered to be 

normal. 

a) 40µg/dL 

b) 20µg/dL 

c) 10µg/dL 

d) 50µg/dL 

51. In humans, ____________ is the 

difference between systolic and diastolic 

pressure. 

a) 40 mm Hg 

b) 20 mm Hg 

c) 0 mm Hg 

d) None of the above 

52. An individual’s blood is classified as 

_________ if an inherited protein is found 

on the surface of the blood cells. 

a) ANA-Positive 

b) Rh-Neutral 

c) Rh-Negative 

d) Rh-Positive 

53. _________ is a condition where plaque 

builds up on the inside of arteries. 

a) Arthrocentesis 

b) Arthralgia 

c) Arthritis 

d) Atherosclerosis 

54. __________ is a prenatal test in which, 

a sample of the fluid that surrounds the 

foetus is recovered for testing. 

a) Paracentesis 

b) Cordocentesis 

c) Amniocentesis 

d) None of the above 

55. __________ carries deoxygenated 

blood to the lungs from the right ventricle. 

a) Pulmonary artery 

b) Pulmonary vein 

c) Aorta 

d) None of the above 

56. Snake venom usually enters the body 

through an open wound and enters the 

bloodstream through the ______ 

a) Veins 

b) Lymphatic system 

c) Arteries 

d) None of the above 

57. ______ forms clots when blood vessels 

get damaged. 

a) Platelets 

b) Cellulose 

c) Haemoglobin 

d) None of the above 

58. __________ is a fluid that drains from 

the lacteals of the small intestine into the 



 

 
6 

lymphatic system during digestion. It 

usually contains fat and proteins. 

a) Chyme 

b) Bile 

c) Chyle 

d) None of the above 

59. ___________ is a small branch of an 

artery that leads into a capillary. 

a) Capillaria 

b) Areolas 

c) Arteriole 

d) None of the above 

60. Humans use haemoglobin to carry 

oxygen in their blood. Similarly, mollusks 

and crustaceans use _____________ to 

carry oxygen in their blood. 

a) Hemovanadin 

b) Hemerythrin 

c) Haemoglobin 

d) Hemocyanin 

61. Severe loss of blood due to trauma is 

called  

a) Exsanguination 

b) Haemolysis 

c) Concussion 

d) None of the above 

62. ___________ is a condition where a 

blood clot forms in the circulatory system. 

a) Thrombus 

b) Strombus 

c) Hematoma 

d) None of the above 

63. Human teeth and elephant’s tusk are 

(a) Analogous organs 

(b) Vestigeal organs 

(c) Homologous organs 

(d) Rudimentary organs 

64. Independent inheritance of two 

separate traits, shape and colour of seeds in 

Mendel’s cross on pea plants resulted in a 

observable ratio of: 

(a) 3 : 1 

(b) 9 : 3 : 3 : 1 

(c) 1 : 1 

(d) 9 : 4 : 2 : 1 

65. Which of these is not a vestigial organ 

in human beings? 

(a) Appendix 

(b) Wisdom tooth 

(c) Nictitating membrane 

(d) Gall bladder 

66. Evolution of wild cabbage is an 

example of: 

(a) Artificial selection 

(b) Natural selection 

(c) Mutation 

(d) Genetic drift 

67. The modern day Human species has 

evolved from its earliest ancestors who 

lived in: 

(a) Asia 

(b) Australia 

(c) Africa 

(d) China 

68. Two pink coloured flowers on crossing 

resulted in 1 red, 2 pink and 1 white flower 

progeny. The nature of the cross will be 

(a) double fertilisation 

(b) self pollination 

(c) cross fertilisation 

(d) no fertilisation 

69. Which of the following statement is 

incorrect? 

(a) For every hormone there is a gene. 

(b) For every protein there is a gene. 

(c) For production of every enzyme there 

is a gene. 

(d) For every molecule of fat there is a 

gene 

70. If a round, green seeded pea plant (RR 

yy) is crossed with wrinkled, yellow 

seeded pea plant (rr YY), the seeds 

produced in F1 generation are 

(a) round and yellow 

(b) round and green 

(c) wrinkled and green 

(d) wrinkled and yellow 

71. In human males all the chromosomes 

are paired perfectly except one. This/these 

unpaired chromosome is/are 

(i) large chromosome 

(ii) small chromosome 

(iii) Y-chromosome 

(iv) X-chromosome 

(a) (i) and (ii) 
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(b) (iii) only 

(c) (iii) and (iv) 

(d) (ii) and (iv) 

72. A zygote which has an X-chromosome 

inherited from the father will develop into 

a 

(a) boy 

(b) girl 

(c) X- chromosome does not determine the 

sex of a child 

(d) either boy or girl 

73. New species may be formed if 

(i) DNA undergoes significant changes in 

germ cells 

(ii) chromosome number changes in the 

gamete 

(iii) there is no change in the genetic 

material 

(iv) mating does not take place 

(a) (i) and (ii) 

(b) (i) and (iii) 

(c) (ii), (iii) and (iv) 

(d) (i), (ii) and (iii) 

74. Two pea plants one with round green 

seeds (RRyy) and another with wrinkled 

yellow (rrYY) seeds produce F1 progeny 

that have round, yellow (RrYy) seeds. 

When F1 plants are selfed, the F2 progeny 

will have new combination of characters. 

Choose the new combination from the 

following: 

(i) Round, yellow 

(ii) Round, green 

(iii) Wrinkled, yellow 

(iv) Wrinkled, green 

(a) (i) and (ii) 

(b) (i) and (iv) 

(c) (ii) and (iii) 

(d) (i) and (iii) 

75. A basket of vegetables contains carrot, 

potato, radish and tomato. Which of them 

represent the correct homologous 

structures? 

(a) Carrot and potato 

(b) Carrot and tomato 

(c) Radish and carrot 

(d) Radish and potato 

76. If the fossil of an organism is found in 

the deeper layers of Earth, then we can 

predict that 

(a) the extinction of organism has occurred 

recently 

(b) the extinction of organism has occurred 

thousands of years ago 

(c) the fossil position in the layers of Earth 

is not related to its time of extinction 

(d) time of extinction cannot be 

determined 

77. A trait in an organism is influenced by 

(a) paternal DNA only 

(b) maternal DNA only 

(c) both maternal and paternal DNA 

(d) neither by paternal nor by maternal 

DNA 

78. Select the group which shares 

maximum number of common characters. 

(a) two individuals of a species 

(b) two species of a genus 

(c) two genera of a family 

(d) two genera of two families 

79. According to the evolutionary theory, 

formation of a new species is generally 

due to 

(а) sudden creation by nature 

(b) accumulation of variations over several 

generations 

(c) clones formed during asexual 

reproduction 

(d) movement of individuals from one 

habitat to another 

80. Select the statements that describe 

characteristics of genes 

(i) genes are specific sequence of bases in 

a DNA molecule 

(ii) a gene does not code for proteins 

(iii) in individuals of a given species, a 

specific gene is located on a particular 

chromosome 

(iv) each chromosome has only one gene 

(a) (i) and (ii) 

(b) (i) and (iii) 

(c) (i) and (iv) 

(d) (ii) and (iv) 

81. In peas, a pure tall plant (TT) is 

crossed with a short plant (tt). The ratio of 

pure tall plants to short plants in F2 is 

(a) 1 : 3 

(b) 3 : 1 

(c) 1 : 1 

(d) 2 : 1 
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82. Some dinosaurs had feathers although 

they could not fly but birds have feathers 

that help them to fly. In the context of 

evolution this means that 

(a) reptiles have evolved from birds 

(b) there is no evolutionary connection 

between reptiles and birds 

(c) feathers are homologous structures in 

both the organisms 

(d) birds have evolved from reptiles 

83. Which plant hormone promotes 

dormancy in seeds and buds? 

(a) Auxin 

(b) Gibberellin 

(c) Cytokinin 

(d) Abscisic acid 

84. Roots of plants are: 

(a) positively geotropic 

(b) negatively geotropic 

(c) positively phototropic 

(d) None of these 

85. Response of plant roots towards water 

is called: 

(a) Chemotropism 

b) Phototropism 

(c) Hydrotropism 

(d) Geotropism 

86. Movement of sunflower in accordance 

with the path of Sun is due to 

(a) Chemotropism 

(b) Geotropism 

(c) Phototropism 

(d) Hydrotropism 

87. Which plant hormone promotes cell 

division? 

(a) Auxin 

(b) Gibberellin 

(c) Cytokinin 

(d) Abscisic acid 

88. The main function of abscisic acid in 

plants is 

(a) to promote cell division. 

(b) to inhibit growth. 

(c) to promote growth of stem. 

(d) to increase the length of cells. 

89. Fall of mature leaves and fruits from 

plants is triggered by which of the 

following substance? 

(a) Auxin 

(b) Cytokinin 

(c) Gibberellin 

(d) Abscisic acid 

90. Any change in the environment to 

which an organism responds is called 

(a) stimulus 

(b) coordination 

(c) response 

(d) hormone 

91. A part of the body which responds to 

the in-structions sent from nervous system 

is called 

(a) receptor 

(b) effector 

(c) nerves 

(d) muscles 

92. The longest fibre on the cell body of a 

neuron is called 

(a) sheath 

(b) cytoplasm 

(c) axon 

(d) dendrites 

93. Which nerves transmit impulses from 

the cen¬tral nervous system towards 

muscle cells? 

(a) Sensory nerves 

(b) Motor nerves 

(c) Relay nerves 

(d) Cranial nerves 

94. A microscopic gap between a pair of 

adjacent neurons over which nerve 

impulses pass is called 

(a) neurotransmitter 

(b) dendrites 

(c) axon 

(d) synapse 

95. Main function of cerebrum is 

(a) thinking 

(b) hearing 

(c) memory 

(d) balancing 

96. Posture and balance of the body is 

controlled by 

(a) Pons 

(b) Medulla oblongata 

(c) Cerebellum 

(d) Cerebrum 

97. Breathing is controlled by which part 

of the brain? 

(a) Cerebrum 

(b) Cerebellum 
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(c) Hypothalamus 

(d) Medulla oblongata 

98. Which part of nervous system controls 

the re¬flex activities of the body? 

(a) Brain 

(b) Spinal cord 

(c) Cerebrum 

(d) Cerebellum 

99. Which of the following acts as both 

endocrine and exocrine gland? 

(a) Pancreas 

(b) Thyroid 

(c) Adrenal 

(d) Liver 

100. Identify which of the following 

statements about thyroxin is incorrect? 

(a) Thyroid gland requires iodine to 

synthesize thyroxin. 

(b) Thyroxin is also called thyroid 

hormone. 

(c) It regulates protein, carbohydrates and 

fat metabolism in the body. 

(d) Iron is essential for the synthesis of 

thyroxin. 

101. Which gland secretes the growth 

hormone? 

(a) Pituitary gland 

(b) Thyroid 

(c) Hypothalamus 

(d) Adrenal 

102. The secretion of which hormone leads 

to physical changes in the body when you 

are 10-12 years of age? 

(a) Oestrogen from testes and testosterone 

from ovar. 

(b) Estrogen from adrenal gland and 

testosterone from pituitary gland. 

(c) Testosterone from testes and estrogen 

from ovary. 

(d) Testosterone from thyroid gland and 

estrogen from pituitary gland. 

103. A diabetic patient suffers from 

deficiency of which hormone? 

(a) Thyroxine 

(b) Testosterone 

(c) Oestrogen 

(d) Insulin 

104. Which of the following endocrine 

glands does not exist in pairs? 

(a) Testes 

(b) Adrenal 

(c) Pituitary 

(d) Ovary 

105. Which among the following is a 

unicellular organism that reproduces by 

budding: 

(a) Hydra 

(b) Planaria 

(c) Yeast 

(d) Spirogyra 

106. Which among the following does not 

reproduce by spore formation: 

(a) Penicillium fungus 

(b) Yeast fungus 

(c) Mucor fungus 

(d) Rhizopus fungus 

107. The rapid spreading of bread mould 

on slices of bread are due to: 

(i) Presence of large number of spores in 

air 

(ii) Presence of large number of thread-like 

branched hyphae 

(iii) Presence of moisture and nutrients 

(iv) Formation of round shaped sporangia 

(a) (i) and (iii) 

(b) (ii) and (iv) 

(c) (i) and (ii) 

(d) (iii) and (iv) 

108. The asexual reproduction in the 

Spirogyra involves: 

(a) Breaking up of filaments into smaller 

bits 

(b) Division of a cell into many cells 

(c) Division of a cell into two cells 

(d) Formation of a large number of buds 

109. Reason for the greater similarities 

among the offsprings produced by asexual 

reproduction, is: 

(i) Asexual reproduction involves only one 

parent 

(ii) Asexual reproduction involves two 

parents 

(iii) Asexual reproduction involves 

gametes 

(iv) Asexual reproduction does not involve 

gametes 

(a) (i) and (ii) 

(b) (i) and (iii) 

(c) (ii) and (iv) 

(d) (i) and (iv) 
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110. The process of the division of cell 

into several cells during reproduction in 

Plasmodium is termed as: 

(a) Fragmentation 

(b) Budding 

(c) Multiple fission 

(d) Binary fission 

111. The number of chromosomes in 

parents and offsprings of a particular 

species remains constant due to: 

(a) Doubling of chromosomes after zygote 

formation 

(b) Halving of chromosomes during 

gamete formation 

(c) Doubling of chromosomes after gamete 

formation 

(d) Halving of chromosomes after gamete 

formation 

112. A Planaria worm is cut horizontally 

in the middle into two halves P and Q such 

that the part P contains the whole head of 

the worm. Another Planaria worm is cut 

vertically into two halves R and S in such 

a way that both the cut pieces R and S 

contain half head each. Which of the cut 

pieces of the two Planaria worms could 

regenerate to form the complete respective 

worms? 

(a) Only P 

(b) Only R and S 

(c) P, Rand S 

(d) P, Q, R and S 

113. The number of chromosomes in both 

parents and offsprings of a particular 

species remains constant because: 

(a) Chromosomes get doubled after zygote 

formation 

(b) Chromosomes get doubled after 

gamete formation 

(c) Chromosomes get halved during 

gamete formation 

(d) Chromosomes get halved after gamete 

formation 

114. The figure given alongside shows the 

human male reproductive organs. Which 

structures make sperms and seminal fluid? 

(a) V makes sperms and X makes seminal 

fluid 

(b) W makes sperms and Y makes seminal 

fluid 

(c) X makes sperms and W makes seminal 

fluid 

(d) Y makes sperms and V makes seminal 

fluid 

115. An organism capable of reproducing 

by two asexual reproduction methods one 

similar to the reproduction in yeast and the 

other similar to the reproduction in 

Planaria is: 

(a) Spirogyra 

(b) Hydra 

(c) Bryophyllum 

(d) Paramecium 

116. Among the following select the 

statements that are true regarding the 

sexual reproduction in flowering plants? 

(i) Fertilisation is a compulsory event 

(ii) It always results in the formation of 

zygote 

(iii) Offsprings formed are clones 

(iv) It requires two types of gametes 

(a) (i) nad (iv) 

(b) (i), (ii) and (iii) 

(c) (i), (ii) and (iv) 

(d) (ii), (iii) and (iv) 

117. Which among the following are not 

the functions of testes at puberty? 

(i) Formation of germ cells 

(ii) Secretion of testosterone 

(iii) Development of placenta 

(iv) Secretion of estrogen 

(a) (i) and (ii) 

(b) (i) and (iii) 

(c) (ii) and (iv) 

(d) (iii) and (iv) 

118. Which out of the following processes 

does not lead to the formation of clones: 

(a) Fertilisation 

(b) Fission 

(c) Tissue culture 

(d) Fragmentation 

119. The ratio of number of chromosomes 

in a human zygote and a human sperm is: 

(a) 2 : 1 

(b) 3 : 1 

(c) 1 : 2 

(d) 1 : 3 
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HINDI: 
1. प्रकाशसंशे्लषणहोताह ै

ए।क्लोरोप्लास्ट 

बी।गोलगीबॉडी 

सी।ऄन्तःप्रदव्ययीजललका 

डी।नालभक 

2. प्रकाशसंशे्लषणकेललएआष्टतमतापमानह ै

ए।25-35 ℃ 

बी।10-15℃ 

सी।35-40 ℃ 

डी।20-25 ℃ 

3. प्रकाशश्वसनहोताह ै

ए।चारसेलऑगेनेल 

बी।दोसेलऑगेनेल 

सी।एकसेलऑगेनेल 

डी।थ्रीसेलऑगेनेल 

4. एनएडीपीमेंकमीहोतीह ै

ए।ऑक्सीडेलटवफोटोफॉस्फोराआलेशन 

बी।चक्रीयफोटोफॉस्फोराआलेशन 

सी।गैर-चक्रीयफोटोफॉस्फोराआलेशन 

डी।कोइनहीं 

5. क्रांजएनाटॉमीकीपलियोंमेंपायाजाताह ै

ए।गेह  ं

बी।सरसों 

सी।अल ू

डी।गन्ना 

6. पेरोलक्ससोमलकसप्रकारकीप्रलतलक्रयाओमंेंशालमलहोतेहैं 

ए।केलववनचक्र 

बी।ग्लाआऑक्साआलेटचक्र 

सी।ग्लाआकोलेटचक्र 

डी।जीवाणपु्रकाशसंशे्लषण 

7. प्रकाशश्वसनमेंकाऑक्सीकरणहोताह ै

ए।पीजीए 

बी।अरयबूीपी 

सी।क्लोरोलफलए 

डी।A औरB दोनों 

8. C3औरC4पौधेकेसंबंधमेंलभन्नहोतेहैं 

ए।खपतलकएगएएटीपीऄणओुकंीसंख्या 

बी।पहलाईत्पाद 

सी।सब्सटे्रटजोकाबबनडाआऑक्साआडस्वीकारकरताह ै

डी।सभी 

9. केलववनचक्रमेंग्लूकोजका1ऄणबुनताह ै

ए।6CO2 + 30ATP + 12NADPH 

बी।6CO2 + 12ATP 

सी।6CO2 + 18ATP + 12NADPH 

डी।6CO2 + 18ATP + 30NADPH 

10. प्रकाशऄलभलक्रयाकहााँहोतीह?ै 

ए।ग्रेना 

बी।स्ट्रोमा 

सी।कोलशकाद्रव्य 

डी।ऄन्तःप्रदव्ययीजललका 

11. PS-II 

केईिेलजतक्लोरोलफलऄणओुसेंआलेक्ट्रॉनोंकोसबसेपहलेस्वी

कारलकयाजाताह ै

ए।लफयोफाआलटन 

बी।फेरेडॉलक्सन 

सी।साआटोक्रोमf 

डी।साआटोक्रोमबी 

12. गैर-

चक्रीयफोटोफॉस्फोराआलेशनकेपररणामस्वरूपकाईत्पादनहो

ताह ै

ए।नाधी 

बी।एनएडीपीएच 

सी।एटीपी 

डी।एटीपीऔरएनएडीपीएच 

13. डीसीएमयरूोकताह ै

ए।PS-मैं 

बी।PS-लितीय 

सी।ऑक्सीडेलटवफाृृृॉस्फॉररलेशन 

डी।यहक्लोरोप्लास्टकोनष्टकरताह ै

14. ऄलधकतमप्रकाशसंशे्लषणहोताह ै
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ए।नीलीबिी 

बी।लालबिी 

सी।सफेदरौशनी 

डी।हरीबिी 

15. C4पौधोंमेंCO2काप्रथमस्वीकताबह ै

ए।एस्पालटबकऄम्ल 

बी।सेबकातेजाब 

सी।ऑक्सालोएसेलटकएलसड 

डी।फॉस्फोनोलपाआरूवेट 

16. C4पाथवेकापहलाईत्पादह ै

ए।पीजीए 

बी।डीएचएपी 

सी।oxaloacetate 

डी।फॉस्फोनोलपाआरूवेट 

17. 

प्रकाशसंशे्लषणकेदोवणबकप्रणालीलसद्ांतिाराप्रस्तालवतलकया

गयाथा 

ए।एरन 

बी।कालाअदमी 

सी।पहाडी 

डी।एमसबन 

18. प्रकाशसंशे्लषणकेदौरानH2दाताह ै

ए।एटीपी 

बी।एनएडीपी 

सी।एनएडीपीएच 

डी।नाधी 

19. 

प्रकाशसंशे्लषणकेदौरानलवभाजनऄलभलक्रयामेंशालमलखलनज

ह ै

ए।पोटेलशयमऔरमैंगनीज 

बी।मैग्नीलशयमऔरक्लोरीन 

सी।पोटेलशयमऔरक्लोरीन 

डी।मैंगनीजऔरक्लोरीन 

20. पानीमेंघलुनशीलप्रकाशसंशे्लषकवणबकह ै

ए।क्लोरोलफलए 

बी।जैंथोलफल 

सी।एंथोसायलनन 

डी।क्लोरोलफलबी 

21. 

एकपौधेकोलकतनेअवश्यकपोषकतत्वोंकीअवश्यकताहोती

ह?ै 

      (ए) 15 

      (बी) 17 

(सी) 16 

(डी) 20 

22. 

लनम्नलललखतमेंसेकौनसाखलनजउजाबभंडारणऔरएडीपीकोए

टीपीऄणओुमंेंस्थानांतररतकरनेमेंप्रमखुभलूमकालनभाताह?ै 

(ए) फास्फोरस 

(बी) मैग्नीलशयम 

(सी) मोललब्डेनम 

(डी) ईपरोक्तमेंसेकोइनहीं 

23. पौधेऄपन_े______ 

केमाध्यमसेपोषकतत्वोंकोऄवशोलषतकरतेहैं। 

(ए) जडें 

(बी) स्टेम 

(सी) पलियां 

(डी) फूल 

24. 

लनम्नलललखतमेंसेकौनसाखलनजपिेदारसलब्जयोंमेंशषु्कपदाथब

औरऄनाजफसलोंमेंप्रोटीनकीमात्राऔरगणुविादोनोंमेंसधुार

करनेमेंमददकरताह?ै 

(ए) लोहा 

(बी) कॉपर 

(सी) नाआट्रोजन 

(डी) मोललब्डेनम 

25. पोषणकेबारेमेंलनम्नलललखतमेंसेकौनसाकथनगलतह?ै 

(ए) नाआट्रोजनऔरफास्फोरसमैक्रोन्यलूट्रएंटहैं 

(बी) पौधेहामोनपोषकतत्वहैं 

(सी) मैंगनीजऔरमोललब्डेनमसकू्ष्मपोषकतत्वहैं 

(डी) पोषणलवलभन्नकायोंकोकरनेकेललएउजाबप्रदानकरताह।ै 
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26. 

लनम्नलललखतमेंसेलकसखलनजकीपौधोंकोबडीमात्रामेंअवश्य

कताहोतीह?ै 

(ए) क्लोरीन 

(बी) फास्फोरस 

(सी) मैंगनीज 

(डी) मोललब्डेनम 

27. क्लोरोलसस________ 

कीकमीकेकारणपलियोंकापीलापनह।ै 

(ए) लजंक 

(बी) पोटेलशयम 

(सी) मैंगनीज 

(D. ईपरोक्तसभी 

28. पौधोंमेंपोषणकामखु्यतरीका__________ ह।ै 

(ए) ऑटोट्रॉलफक 

(बी) लवषमपोषी 

(सी) सैप्रोफाआलटक 

(डी) ईपरोक्तमेंसेकोइनहीं 

29. 

क्लोरोलफलकेसंशे्लषणकेललएलनम्नलललखतमेंसेकौनसाखलनज

अवश्यकह?ै 

(ए) कॉपर 

(बी) पोटेलशयम 

(सी) नाआट्रोजन 

(डी) लोहा 

30. 

लनम्नलललखतमेंसेकौनसाखलनजकोलशकालझवलीऔरन्यलूक्ल

कएलसडकाएकघटकह?ै 

(ए) लजंक 

(बी) पोटेलशयम 

(सी) फास्फोरस 

(डी) मैंगनीज 

31. 

यलदकोइपौधाईच्चअंतररकCO2केसाथप्रकाशमेंरखाजा

ताह,ै तोसामग्रीडाकबCO2मेंस्थानांतररतहोजातीह,ै 

मकु्तवातावरणतोरंध्र__________ होगा 

(ए) पहलेबंदकरेंऔरलफरखोलें 

(बी) बंदरहो 

(सी) खलेुरहें 

(डी) पहलेखोलेंऔरलफरबंदकरें 

32. लनम्नलललखतमेंसेकौनपरूीतरहसेपारगम्यह,ै 

लेलकनऄतंःक्षेपणनहींलदखाताह_ै__________ 

(ए) सेवयलुोलसकसेलदीवार 

(बी) जैलवकलझवली 

(सी) लललग्नफाआडसेलदीवार 

(डी) सबराआज्डसेलदीवार 

33. 

लनम्नलललखतमेंसेकौनपौधोंमेंरातकेठीकहोनेकीघटनामेंसहाय

कहोसकताह?ै 

(ए) केलशकापानी 

(बी) हीड्रोस्कोलपकपानी 

(सी) रासायलनकरूपसेसंयकु्तपानी 

(डी) जलवाष्प 

34. 

पानीकेलनलष्क्रयऄवशोषणकेसंबंधमेंगलतकथनकापतालगाएं

___________ 

(ए) जडेंअवश्यकनहींहैं 

(बी) जाआलमसैपमेंनकारात्मकदबावबनाताह ै

(सी) यहलसम्प्लालस्टकह ै

(डी) यहवाष्पोत्सजबनपरलनभबरह ै

35. 

पौधेकेबढ़तेमौसमकेदौरानईत्पालदतशषु्कपदाथबकीप्रलतआकाइ

पानीकीमात्राको________ कहाजाताह ै

(ए) वाष्पोत्सजबनप्रवाह 

(बी) वाष्पोत्सजबनसचूकांक 

(सी) स्टोमेटलआडेंक्स 

(डी) वाष्पोत्सजबनऄनपुात 

36. गटेशनकीदर_________ मेंघटजातीह ै

(ए) ऄच्छीतरहसेपानीवालीलमट्टी 
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(बी) ऄच्छेवातनकेसाथलमट्टी 

(सी) वायमुंडलीयवायकुीईच्चडीपीडी 

(डी) ईच्चवायमुंडलीयदबाव 

37. लनम्नलललखतमेंसेकौनसाएकसहीकथनह?ै 

(ए) खलनजऔरपानीएकसाथऄवशोलषतहोतेहैं। 

(बी) 

पानीमखु्यरूपसेएकाग्रताढालकेलखलाफऄवशोलषतहोताह।ै 

(सी) पानीऔरखलनजोंकाऄवशोषणस्वतंत्ररूपसेहोताह।ै 

(डी) अयनोंकेसाथखलनजऄवशोलषतहोतेहैं 

38. वाष्पोत्सजबनकालक्रयास्पेक्ट्रम__________ ह ै

(ए) नीलाऔरलाल 

(बी) नीलाऔरदरू-लाल 

(सी) रीनएंडरेड 

(डी) हराऔरदरू-लाल 

39. वाष्पोत्सजबन________ मेंमहत्वपणूबह ै

(ए) लवकासओलयांलत्रकउतक, 

(बी) उतककीबढ़तीगणुविा 

(सी) खलनजोंकीघटतीएकाग्रता 

(डी) दोनों (ए) और (बी) 

40. छोटेपौधोंमेंवाष्पोत्सजबनपररमाण__________ 

केकारणबडेपौधोंकीतुलनामेंऄलधकहोताह ै

(ए) ऄलधकरंध्रअवलृि 

(बी) ऄलधकवाष्पोत्सजबनसचूकांक 

(सी) ईच्चजड/शटूऄनपुात 

(डी) कमरूट / शटूऄनपुात 

41. 

लनम्नलललखतमेंसेकौनमंचकेदबावप्रवाहपररकवपनापरअपलि

नहींह_ै________ 

(ए) 

असन्नचलनीट्यबूकोलशकाओकेंररलक्तकाएंलनरंतरनहींहैं। 

(बी) 

एकहीचलनीट्यबूमेंपानीऔरलवलेयकेप्रवाहकीदरलभन्नहोस

कतीह ै

(सी) फ्लोएमपररवहनपानीकीकमीसेप्रभालवतनहींह।ै 

(डी) 

पौधोंमेंचोटलगनेसेकाबबलनकलवलेयसेभरपरूघोलकाररसावहो

ताह।ै 

42. फ्लोएममेंभोजनकास्थानान्तरण_______ 

केरूपमेंहोताह ै

(ए) रैलफनोज 

(बी) सोलबबटोल 

(सी) सकु्रोज 

(डी) येसभी 

43. 

चलनीकीनललयोंमेंचीनीकास्थानान्तरण__________

_ ह ै

(ए) शारीररकप्रलक्रया 

(बी) लिलदशप्रलक्रया 

(सी) शारीररकप्रलक्रया 

(डी) दोनों (ए) और (बी) 

44. दबावबमतकनीककाईपयोग________ 

कोमापनेकेललएलकयाजाताह ै

(ए) रूटदबाव 

(बी) पानीकेस्तंभपरतनाव 

(सी) जाआलमसैपकापररवहनवेग 

(डी) ऄतंःक्षेपणदबाव 

45. 

जबपौधादोपहरकेसमयपलियोंकामरुझानाऔरशामकोठीकहो

नालदखाताह,ै तोयह_________ होताह ै

(ए) प्रारंलभकलवलवटंग 

(बी) स्थायीरूपसेमरुझाना 

(सी) लमड-डेलडसीकेशन 

(डी) ऄस्थायीलवलवटंग 

46. 

प्रलतआकाइक्षेत्रमेंरंध्रोंकीसंख्याऔरएलपडमबलकोलशकाओकेंबी

चसंबंधको________ कहाजाताह ै

(ए) स्टोमेटलआडेंक्स 

(बी) स्टोमेटलअवलृि 

(सी) वाष्पोत्सजबनगणुांक 
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(डी) दोनों (ए) और (बी) 

47. 

एकसामान्यस्वस्थवयस्कमानवमेंसामान्यडायस्टोललकरक्तचा

पहोताह ै

ए) 80लममीएचजी 

बी) 60लममीएचजी 

सी) 90लममीएचजी 

घ) 110लममीएचजी 

48. ______ 

एकरक्तलवकारहलैजसमेंहीमोग्लोलबनखराबहोजाताह ै

ए) हटेेरोक्रोलमया 

बी) खाललत्य 

सी) हमेोलललसस 

घ) लसकलसेलएनीलमया 

49. लनम्नलललखतमेंसेलकसदो-

शब्दअआटमकाऄथबसमानह?ै 

ए) रक्तकैं सर - हीमोलफललया 

बी) पेसमेकर - एसएनोड 

ग) ऑलस्टयोपोरोलसस - गलठया 

घ) ईपरोक्तमेंसेकोइनहीं 

50. वयस्कमनषु्योंमें, 

रक्तमेंसीसायाईससेकमका_______ 

सामान्यमानाजाताह।ै 

ए) 40माआक्रोग्राम / डीएल 

बी) 20माआक्रोग्राम / डीएल 

सी) 10माआक्रोग्राम / डीएल 

डी) 50माआक्रोग्राम / डीएल 

51. मनषु्योंमें, __________ 

लसस्टोललकऔरडायस्टोललकदबावकेबीचकाऄतंरह।ै 

क) 40लममीएचजी 

बी) 20लममीएचजी 

सी) 0लममीएचजी 

घ) ईपरोक्तमेंसेकोइनहीं 

52. एकव्यलक्तकेरक्तको_________ 

केरूपमेंवगीकृतलकयाजाताहयैलदरक्तकोलशकाओकंीसतहपर

एकलवरासतमेंलमलाप्रोटीनपायाजाताह।ै 

ए) एएनए-पॉलजलटव 

बी) अरएच-तटस्थ 

सी) अरएच-नकारात्मक 

डी) अरएच-पॉलजलटव 

53. _________ 

एकऐसीलस्थलतहजैहांधमलनयोंकेऄदंरपरट्टकाकालनमाबणहोताहै

। 

ए) अथ्रोसेंटेलसस 

बी) अथ्राबलवजया 

ग) गलठया 

डी) एथेरोस्क्लेरोलसस 

54. __________ एकप्रसवपवूबपरीक्षणह,ै 

लजसमेंपरीक्षणकेललएभ्रणूकेचारोंओरतरलपदाथबकाएकनमनूा

बरामदलकयाजाताह।ै 

ए) पैरासेन्टेलसस 

बी) कॉडोसेंटेलसस 

सी) एमलनयोसेंटेलसस 

घ) ईपरोक्तमेंसेकोइनहीं 

55. __________ 

दाएंवेंलट्रकलसेफेफडोंमेंऑक्सीजनरलहतरक्तपह चंाताह।ै 

क) फुफ्फुसीयधमनी 

बी) फुफ्फुसीयलशरा 

ग) महाधमनी 

घ) ईपरोक्तमेंसेकोइनहीं 

56. 

सांपकाजहरअमतौरपरखलेुघावकेमाध्यमसेशरीरमेंप्रवेशकर

ताहऔैर________ 

केमाध्यमसेरक्तप्रवाहमेंप्रवेशकरताह।ै 

क) लशराए ं

बी) लसीकाप्रणाली 

ग) धमलनयां 

घ) ईपरोक्तमेंसेकोइनहीं 
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57. रक्तवालहकाओकेंक्षलतग्रस्तहोनेपर_________ 

थक्केबनाताह।ै 

ए) प्लेटलेट्स 

बी) सेलूलोज 

सी) हीमोग्लोलबन 

घ) ईपरोक्तमेंसेकोइनहीं 

58. __________ 

एकतरलपदाथबहजैोपाचनकेदौरानछोटीअंतकेलैलक्टयवससे

लसीकातंत्रमेंजाताह।ैआसमेंअमतौरपरवसाऔरप्रोटीनहोतेहैं। 

क) चाआम 

बी) लपि 

ग) चील 

घ) ईपरोक्तमेंसेकोइनहीं 

59. ___________ 

धमनीकीएकछोटीशाखाहजैोएककेलशकामेंजातीह।ै 

ए) केलशका 

बी) एरोलास 

सी) धमनी 

घ) ईपरोक्तमेंसेकोइनहीं 

60. 

मनषु्यऄपनेरक्तमेंऑक्सीजनलेजानेकेललएहीमोग्लोलबनकाईप

योगकरतेहैं।आसीतरह, 

मोलस्कऔरक्रस्टेलशयंसऄपनेरक्तमेंऑक्सीजनलेजानेकेललए

_________ काईपयोगकरतेहैं। 

a) हमेोवनादीन 

बी) हमेरीलथ्रन 

सी) हीमोग्लोलबन 

d) हमेोसायलनन 

61. अघातकेकारणरक्तकीगंभीरहालनकहलातीह ै

क) ऄलतशयोलक्त 

बी) हमेोलललसस 

ग) लहलाना 

घ) ईपरोक्तमेंसेकोइनहीं 

62. ___________ 

एकऐसीलस्थलतहजैहांसंचारप्रणालीमेंरक्तकाथक्काबनजाताह।ै 

ए) थ्रोम्बस 

बी) स्ट्रोम्बस 

ग) रक्तगवुम 

घ) ईपरोक्तमेंसेकोइनहीं 

63. मानवदांतऔरहाथीकेदांतहैं 

(ए) ऄनरुूपऄगं 

(बी) वेस्टीलजयलऄगं 

(सी) समरूपऄगं 

(डी) ऄवपलवकलसतऄगं 

64. मटरकेपौधोंपरमेंडलकेक्रॉसमेंदोऄलग-ऄलगलक्षणों, 

अकारऔरबीजोंकेरंगकीस्वतंत्रलवरासतकेपररणामस्वरूपए

कदखेनेयोग्यऄनपुातह अ: 

(ए) 3: 1 

(बी) 9:3:3:1 

(सी) 1: 1 

(डी) 9: 4: 2: 2: 1 

65. आनमेंसेकौनमानवमेंएकऄवशेषीऄगंनहींह?ै 

(ए) पररलशष्ट 

(बी) बलुद्दांत 

(सी) लनलक्टटेलटंगलझवली 

(डी) लपिाशय 

66. जंगलीगोभीकालवकासएकईदाहरणह:ै 

(ए) कृलत्रमचयन 

(बी) प्राकृलतकचयन 

(सी) ईत्पररवतबन 

(डी) अनवंुलशकबहाव 

67. 

अधलुनकमानवप्रजालतऄपनेशरुुअतीपवूबजोंसेलवकलसतह इहै

जोयहांरहतेथे: 

(ए) एलशया 

(बी) ऑस्टे्रललया 

(सी) ऄफ्रीका 

(डी) चीन 

68. दोगलुाबीरंगकेफूलोंकोपारकरनेपर1लाल, 

2गलुाबीऔर1सफेदफूलपैदाह ए।क्रॉसकीप्रकृलतहोगी 

(ए) दोहरालनषेचन 
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(बी) अत्मपरागण 

(सी) क्रॉसलनषेचन 

(डी) कोइलनषेचननहीं 

69. लनम्नलललखतमेंसेकौनसाकथनगलतह?ै 

(ए) प्रत्येकहामोनकेललएएकजीनहोताह।ै 

(बी) प्रत्येकप्रोटीनकेललएएकजीनहोताह।ै 

(c) प्रत्येकएंजाआमकेईत्पादनकेललएएकजीनहोताह।ै 

(डी) वसाकेप्रत्येकऄणकेुललएएकजीनहोताह ै

70. यलदएकगोल, हरेबीजवालेमटरकेपौध े(RR yy) 

कोझरुीदार, पीलेबीजवालेमटरकेपौध े(rr YY) 

केसाथसंकरणलकयाजाताह,ै तोF1पीढ़ीमेंईत्पालदतबीजहैं 

(ए) गोलऔरपीला 

(बी) गोलऔरहरा 

(सी) झरुीदारऔरहरा 

(डी) झरुीदारऔरपीला 

71. 

मानवपरुुषोंमेंएककोछोडकरसभीगणुसतू्रपरूीतरहसेयलुग्मतहोते

हैं।यह/येऄयलुग्मतगणुसतू्रह/ैहैं 

(i) बडेगणुसतू्र 

(ii) छोटेगणुसतू्र 

(iii) वाइ-गणुसतू्र 

(iv) एक्स-क्रोमोसोम 

(ए) (i) और (ii) 

(बी) (iii) केवल 

(सी) (iii) और (iv) 

(डी) (ii) और (iv) 

72. एकयगु्मजलजसमेंलपतासेलवरासतमेंलमलाएकX-

गणुसतू्रहोताह,ै a .मेंलवकलसतहोगा 

(ए)लडका 

(बी)लडकी 

(सी) एक्स-गणुसतू्रबच्चेकेललंगकालनधाबरणनहींकरताह ै

(डी) यातोलडकायालडकी 

73. नइप्रजालतयााँबनसकतीहैंयलद 

(i) डीएनएरोगाणकुोलशकाओमंेंमहत्वपणूबपररवतबनकरताह ै

(ii) यगु्मकमेंगणुसतू्रसंख्यापररवतबन 

(iii) अनवंुलशकसामग्रीमेंकोइपररवतबननहींहोताह ै

(iv) संभोगनहींहोताह ै

(ए) (i) और (ii) 

(बी) (i) और (iii) 

(सी) (ii), (iii) और (iv) 

(डी) (i), (ii) और (iii) 

74. मटरकेदोपौधेएकगोलहरेबीज (RRyy) 

औरदसूराझरुीदारपीले (rrYY) 

बीजवालेF1संतानपैदाकरतेहैंलजनमेंगोल, पीले (RrYy) 

बीजहोतेहैं।जबF1पौधोंकोस्वछललयाजाताह,ै 

तोF2संतलतमेंवणोंकानयासंयोजनहोगा।लनम्नलललखतमेंसेन

यासंयोजनचनुें: 

(i) गोल, पीला 

(ii) गोल, हरा 

(iii) झरुीदार, पीला 

(iv) झरुीदार, हरा 

(ए) (i) और (ii) 

(बी) (i) और (iv) 

(सी) (ii) और (iii) 

(डी) (i) और (iii) 

75. सलब्जयोंकीएकटोकरीमेंगाजर, अल,ू 

मलूीऔरटमाटरहैं।ईनमेंसेकौनसहीसमजातीयसंरचनाओकंाप्र

लतलनलधत्वकरताह?ै 

(ए) गाजरऔरअल ू

(बी) गाजरऔरटमाटर 

(सी) मलूीऔरगाजर 

(डी) मलूीऔरअल ू

76. 

यलदलकसीजीवकाजीवाश्मपथृ्वीकीगहरीपरतोंमेंपायाजाताह,ै 

तोहमऄनमुानलगासकतेहैंलक 

(ए) जीवकालवलुप्तहोनाहालहीमेंह अह ै

(बी) जीवोंकालवलुप्तहोनाहजारोंसालपहलेह अह ै
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(सी) 

पथृ्वीकीपरतोंमेंजीवाश्मकीलस्थलतआसकेलवलुप्तहोनेकेसमयसे

संबंलधतनहींह ै

(डी) लवलुप्तहोनेकासमयलनधाबररतनहींलकयाजासकताह ै

77. लकसीजीवमेंएकलक्षणलकसकेिाराप्रभालवतहोताह?ै 

(ए) केवलपैतकृडीएनए 

(बी) केवलमातडृीएनए 

(सी) दोनोंमातऔृरपैतकृडीएनए 

(डी) नतोपैतकृऔरनहीमातडृीएनएिारा 

78. 

ईससमहूकाचयनकरेंजोऄलधकतमसामान्यवणोंकोसाझाकर

ताह।ै 

(ए) एकप्रजालतकेदोव्यलक्त 

(बी) एकजीनसकीदोप्रजालतयां 

(सी) एकपररवारकीदोपीढ़ी 

(डी) दोपररवारोंकीदोपीढ़ी 

79. लवकासवादीलसद्ांतकेऄनसुार, 

एकनइप्रजालतकागठनअमतौरपरकेकारणहोताह ै

(ए) स्वभावसेऄचानकलनमाबण 

(बी) कइपीलढ़योंमेंलवलवधताओकंासंचय 

(सी) ऄलैंलगकप्रजननकेदौरानबनेक्लोन 

(डी) एकअवाससेदसूरेअवासमेंव्यलक्तयोंकीअवाजाही 

80. 

ईनकथनोंकाचयनकरेंजोजीनकीलवशेषताओकंावणबनकरतेहैं 

(i) जीनडीएनएऄणमुेंक्षारोंकेलवलशष्टऄनकु्रमहोतेहैं 

(ii) एकजीनप्रोटीनकेललएकोडनहींकरताह ै

(iii) लकसीदीगइप्रजालतकेव्यलक्तयोंमें, 

एकलवलशष्टजीनएकलवशेषगणुसतू्रपरलस्थतहोताह ै

(iv) प्रत्येकगणुसतू्रमेंकेवलएकजीनहोताह ै

(ए) (i) और (ii) 

(बी) (i) और (iii) 

(सी) (i) और (iv) 

(डी) (ii) और (iv) 

81. मटरमें, एकशदु्लम्बेपौधे (TT) कोएकछोटेपौध े

(tt) 

केसाथसंकरणलकयाजाताह।ैF2मेंशदु्लम्बेपौधोंकाछोटेपौ

धोंसेऄनपुातह ै

(ए) 1: 3 

(बी) 3: 1 

(सी) 1: 1 

(डी) 2: 1 

82. कुछडायनासोरकेपंखहोतेथे, 

हालांलकवेईडनहींसकतेथेलेलकनपलक्षयोंकेपंखहोतेहैंजोईन्हेंई

डनेमेंमददकरतेहैं।लवकासकेसंदभबमेंआसकाऄथबहलैक 

(ए) सरीसपृपलक्षयोंसेलवकलसतह एहैं 

(बी) सरीसपृऔरपलक्षयोंकेबीचकोइलवकासवादीसंबंधनहींह ै

(सी) पंखदोनोंजीवोंमेंसमरूपसंरचनाएंहैं 

(डी) पक्षीसरीसपृसेलवकलसतह एहैं 

83. 

कौनसापादपहामोनबीजऔरकललयोंमेंसपु्तावस्थाकोबढ़ावादे

ताह?ै 

(ए) ऑलक्सन 

(बी) लगबरेललन 

(सी) साआटोलकलनन 

(डी) एलब्सलसकएलसड 

84. पौधोंकीजडेंहैं: 

(ए) सकारात्मकभ-ूईष्णकलटबंधीय 

(बी) नकारात्मकभ-ूईष्णकलटबंधीय 

(सी) सकारात्मकफोटोट्रॉलपक 

(डी) आनमेंसेकोइनहीं 

85. पौधोंकीजडोंकीजलकेप्रलतप्रलतलक्रयाकहलातीह:ै 

(ए) केमोट्रोलपज्म 

बी) फोटोट्रोलपज्म 

(सी) हाआड्रोट्रोलपज्म 

(डी) लजयोट्रोलपज्म 

86. 

सयूबकेमागबकेऄनसुारसरूजमखुीकीगलतलकसकेकारणहोतीह ै

(ए) केमोट्रोलपज्म 

(बी) लजयोट्रोलपज्म 

(सी) फोटोट्रोलपज्म 



 

 
19 

(डी) हाआड्रोट्रोलपज्म 

87. 

कौनसापादपहामोनकोलशकालवभाजनकोबढ़ावादतेाह?ै 

(ए) ऑलक्सन 

(बी) लगबरेललन 

(सी) साआटोलकलनन 

(डी) एलब्सलसकएलसड 

88. पौधोंमेंएलब्सलसकऄम्लकामखु्यकायबह ै

(ए) कोलशकालवभाजनकोबढ़ावादनेेकेललए। 

(बी) लवकासकोरोकनेकेललए। 

(सी) स्टेमकेलवकासकोबढ़ावादनेेकेललए। 

(डी) कोलशकाओकंीलंबाइबढ़ानेकेललए। 

89. 

पौधोंसेपररपक्वपलियोंऔरफलोंकालगरनालनम्नलललखतमेंसेलक

सपदाथबकेकारणहोताह?ै 

(ए) ऑलक्सन 

(बी) साआटोलकलनन 

(सी) लगब्बेरेललन 

(डी) एलब्सलसकएलसड 

90. 

पयाबवरणमेंकोइभीपररवतबनलजसकेललएजीवप्रलतलक्रयाकरताहै

, कहलाताह ै

(ए) ईिेजना 

(बी) समन्वय 

(सी) प्रलतलक्रया 

(डी) हामोन 

91. 

शरीरकावहऄगंजोतंलत्रकातंत्रसेभेजेगएलनदशेोंकाऄनलुक्रयाक

रताह,ै कहलाताह ै

(ए) ररसेप्टर 

(बी) प्रभावक 

(सी) नसों 

(डी) मांसपेलशयों 

92. 

एकन्यरूॉनकेकोलशकाशरीरपरसबसेलंबेफाआबरकोकहाजाताह ै

(ए) म्यान 

(बी) साआटोप्लाज्म 

(सी) ऄक्षतंत ु

(डी) डेंड्राआट्स 

93. 

कौनसीतंलत्रकाएंअवेगोंकोकें द्रीयतंलत्रकातंत्रसेपेशीयकोलश

काओकंीओरसंचाररतकरतीहैं? 

(ए) संवेदीतंलत्रकाए ं

(बी) मोटरतंलत्रका 

(सी) ररलेनसों 

(डी) कपालतंलत्रका 

94. 

असन्नन्यरूॉन्सकीएकजोडीकेबीचएकसकू्ष्मऄतंरलजसपरतंलत्र

काअवेगगजुरतेहैं, ईसेकहाजाताह ै

(ए) न्यरूोट्रांसमीटर 

(बी) डेंड्राआट्स 

(सी) ऄक्षतंत ु

(डी) synapse 

95. प्रमलस्तष्ककामखु्यकायबह ै

(ए) सोच 

(बी) सनुवाइ 

(सी) स्मलृत 

(डी) संतुलन 

96. शरीरकीमदु्राऔरसंतुलनलकसकेिारालनयंलत्रतहोताह?ै 

(ए) पोंस 

(बी) मेडुलाऑबोंगटा 

(सी) सेररबैलम 

(डी) सेरेब्रम 

97. श्वासमलस्तष्ककेलकसभागिारालनयंलत्रतहोतीह?ै 

(ए) सेरेब्रम 

(बी) सेररबैलम 

(सी) हाआपोथैलेमस 

(डी) मेडुलाऑबोंगटा 
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98. 

तंलत्रकातंत्रकाकौनसाभागशरीरकीप्रलतवतीलक्रयाओकंोलनयंलत्र

तकरताह?ै 

(लदमाग 

(बी) रीढ़कीहड्डी 

(सी) सेरेब्रम 

(डी) सेररबैलम 

99।लनम्नलललखतमेंसेकौनऄतंःस्रावीऔरबलहःस्रावीगं्रलथदो

नोंकेरूपमेंकायबकरताह?ै 

(ए) ऄग्न्याशय 

(बी) थायराआड 

(सी) ऄलधवकृ्क 

(डी) लीवर 

100. 

पहचानेंलकथायरोलक्सनकेबारेमेंलनम्नलललखतमेंसेकौनसाकथन

गलतह?ै 

(ए) 

थायराआडगं्रलथकोथायरोलक्सनकोसंशे्ललषतकरनेकेललएअयो

डीनकीअवश्यकताहोतीह।ै 

(बी) थायरोलक्सनकोथायराआडहामोनभीकहाजाताह।ै 

(सी) यहशरीरमेंप्रोटीन, 

काबोहाआडे्रटऔरवसाचयापचयकोलनयंलत्रतकरताह।ै 

(d) थायरोलक्सनकेसंशे्लषणकेललएअयरनअवश्यकह।ै 

101. कौनसीगं्रलथवलृद्हामोनकास्रावकरतीह?ै 

(ए) लपट्यटूरीगं्रलथ 

(बी) थायराआड 

(सी) हाआपोथैलेमस 

(डी) ऄलधवकृ्क 

102. 10-

12वषबकीअयमुेंलकसहामोनकेस्रावसेशरीरमेंशारीररकपररवतब

नहोतेहैं? 

(ए) वषृणसेएस्ट्रोजनऔरऄडंाशयसेटेस्टोस्टेरोन। 

(बी) 

ऄलधवकृ्कगं्रलथसेएस्ट्रोजनऔरलपट्यटूरीगं्रलथसेटेस्टोस्टेरोन। 

(c) वषृणसेटेस्टोस्टेरोनऔरऄडंाशयसेएस्ट्रोजन। 

(डी) 

थायराआडगं्रलथसेटेस्टोस्टेरोनऔरलपट्यटूरीगं्रलथसेएस्ट्रोजन। 

103. मधमुेहरोगीलकसहामोनकीकमीसेपीलडतहोताह?ै 

(ए) थायरोलक्सन 

(बी) टेस्टोस्टेरोन 

(सी) एस्ट्रोजन 

(डी) आसंलुलन 

104. 

लनम्नलललखतमेंसेकौनसीऄतंःस्रावीगं्रलथयांजोडेमेंमौजदूनहींहैं

? 

(ए) वषृण 

(बी) ऄलधवकृ्क 

(सी) लपट्यटूरी 

(डी) ऄडंाशय 

105. 

लनम्नलललखतमेंसेकौनसाएककोलशकीयजीवहजैोनवोलदतिारा

प्रजननकरताह:ै 

(ए) हाआड्रा 

(बी) प्लेनेररया 

(सी) खमीर 

(डी) स्पाआरोग्यरा 

106. 

लनम्नलललखतमेंसेकौनबीजाणलुनमाबणिाराजनननहींकरताह:ै 

(ए) पेलनलसललयमकवक 

(बी) खमीरकवक 

(सी) म्यकूरकवक 

(डी) राआजोपसकवक 

107. ब्रेडकेटुकडोंपरब्रेडमोवडकेतेजीसेफैलनेकाकारणह:ै 

(i) हवामेंबडीसंख्यामेंबीजाणओुकंीईपलस्थलत 

(ii) बडीसंख्यामेंधागेजैसेशालखतहाआपहकेीईपलस्थलत 

(iii) नमीऔरपोषकतत्वोंकीईपलस्थलत 

(iv) गोलअकारकेस्पोरैंलगयाकालनमाबण 

(ए) (i) और (iii) 

(बी) (ii) और (iv) 

(सी) (i) और (ii) 
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(डी) (iii) और (iv) 

108. स्पाआरोगाआरामेंऄलैंलगकप्रजननमेंशालमलहैं: 

(ए) लफलामेंट्सकोछोटेटुकडोंमेंतोडना 

(बी) एककोलशकाकाकइकोलशकाओमंेंलवभाजन 

(सी) एककोलशकाकादोकोलशकाओमंेंलवभाजन 

(डी) बडीसंख्यामेंकललयोंकालनमाबण 

109. 

ऄलैंलगकप्रजननिाराईत्पन्नसंतानोंमेंऄलधकसमानताकाकार

णह:ै 

(i) ऄलैंलगकजननमेंकेवलएकजनकशालमलहोताह ै

(ii) ऄलैंलगकप्रजननमेंदोमाता-लपताशालमलहैं 

(iii) ऄलैंलगकप्रजननमेंयगु्मकशालमलहोतेहैं 

(iv) ऄलैंलगकप्रजननमेंयगु्मकशालमलनहींहोतेहैं 

(ए) (i) और (ii) 

(बी) (i) और (iii) 

(सी) (ii) और (iv) 

(डी) (i) और (iv) 

110. 

प्लास्मोलडयममेंप्रजननकेदौरानकोलशकाकेकइकोलशकाओमंें

लवभाजनकीप्रलक्रयाकोकहाजाताह:ै 

(ए) लवखंडन 

(बी) बलडंग 

(सी) एकालधकलवखंडन 

(डी) बाआनरीलवखंडन 

111. एकलवशेषप्रजालतकेमाता-

लपताऔरसंतानोंमेंगणुसतू्रोंकीसंख्यालस्थररहतीह:ै 

(ए) यगु्मजगठनकेबादगणुसतू्रोंकादोहरीकरण 

(बी) यगु्मकलनमाबणकेदौरानगणुसतू्रोंकाअधाहोना 

(c) यगु्मकबननेकेबादगणुसतू्रोंकादोगनुाहोना 

(डी) यगु्मकबननेकेबादगणुसतू्रोंकाअधाहोना 

112. एकप्लेनेररयाकीडाक्षैलतजरूपसेबीचमेंदोलहस्सोंP 

औरQ मेंआसतरहकाटाजाताहलैकभागP 

मेंकृलमकापरूालसरहोताह।ैएकऄन्यप्लेनेररयावमबकोलंबवतरूप

सेदोलहस्सोंR औरS मेंआसतरहसेकाटाजाताहलैकR औरS 

दोनोंकटेह एटुकडोंमेंसेप्रत्येकमेंअधालसरहोताह।ैदोप्लेनेररया

कृलमयोंकेकटेह एटुकडोंमेंसेकौनसापनु: 

ईत्पन्नहोकरपणूबसंबंलधतकृलमयोंकालनमाबणकरसकताह?ै 

(ए) केवलपी 

(बी) केवलअरऔरएस 

(सी) पी, रैंडएस 

(डी) पी, क्य,ू अरऔरएस 

113. एकलवशेषप्रजालतकेमाता-

लपताऔरसंतानदोनोंमेंगणुसतू्रोंकीसंख्यालस्थररहतीहकै्योंलक: 

(ए) यगु्मनजबननेकेबादगणुसतू्रदोगनुेहोजातेहैं 

(बी) यगु्मकबननेकेबादगणुसतू्रदोगनुेहोजातेहैं 

(c) यगु्मकबननेकेदौरानगणुसतू्रअधेहोजातेहैं 

(d) यगु्मकबननेकेबादगणुसतू्रअधेहोजातेहैं 

114. 

साथमेंलदयागयाअंकडामानवपरुुषप्रजननऄगंोंकोदशाबताह।ै

कौनसीसंरचनाएंशकु्राणऔुरवीयबद्रवबनातीहैं? 

(ए) वीशकु्राणबुनाताहऔैरएक्सवीयबबनाताह ै

(बी) डब्वयशूकु्राणबुनाताहऔैरवाइवीयबतरलबनाताह ै

(सी) एक्सशकु्राणबुनाताहऔैरडब्वयवूीयबतरलबनाताह ै

(डी) वाइशकु्राणबुनाताहऔैरवीवीयबतरलबनाताह ै

115. 

एकजीवजोदोऄलैंलगकप्रजननलवलधयोंिाराप्रजननकरनेमेंसक्ष

मह,ै 

एकखमीरमेंप्रजननकेसमानऔरदसूराप्लेनेररयामेंप्रजननकेस

मानह:ै 

(ए) स्पाआरोगाआरा 

(बी) हाआड्रा 

(सी) ब्रायोलफलम 

(डी) पैरामीलशयम 

116. 

लनम्नलललखतमेंसेईनकथनोंकाचयनकीलजएजोपषु्पीयपादपोंमें

लैंलगकजननकेसंबंधमेंसत्यहैं? 

(i) लनषेचनएकऄलनवायबघटनाह ै

(ii) यहहमेशायगु्मनजकेलनमाबणमेंपररणतहोताह ै

(iii) बननेवालेसंतानक्लोनहोतेहैं 

(iv) आसकेललएदोप्रकारकेयगु्मकोंकीअवश्यकताहोतीह ै
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(ए) (i) नाद (iv) 

(बी) (i), (ii) और (iii) 

(सी) (i), (ii) और (iv) 

(डी) (ii), (iii) और (iv) 

117. लनम्नलललखतमेंसेकौनयौवनपरवषृणकेकायबनहींहैं? 

(i) रोगाणकुोलशकाओकंालनमाबण 

(ii) टेस्टोस्टेरोनकास्राव 

(iii) प्लेसेंटाकालवकास 

(iv) एस्ट्रोजनकास्राव 

(ए) (i) और (ii) 

(बी) (i) और (iii) 

(सी) (ii) और (iv) 

(डी) (iii) और (iv) 

118. लनम्नलललखतमेंसेलकसप्रलक्रयासेक्लोननहींबनतेहैं: 

(ए) लनषेचन 

(बी) लवखंडन 

(सी) उतकसंस्कृलत 

(डी) लवखंडन 

119. 

मानवयगु्मनजऔरमानवशकु्राणमुेंगणुसतू्रोंकीसंख्याकाऄनपुा

तह:ै 

(ए) 2: 1 

(बी) 3: 1 

(सी) 1: 2 

(डी) 1: 3 
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ANSWERS: 

1- a 

2- d 

3- d 

4- c 

5- d 

6- c 

7- b 

8- d 

9- c 

10- a 

11- a 

12- d 

13- b 

14- b 

15- d 

16- c 

17- d 

18- c 

19- d 

20- c 

21 Sol: (b) 17. 

22 Sol: (a) Phosphorus. 

23 Sol:(a) Roots. 

24 Sol: (c) Nitrogen. 

25 Sol: (b) Plant hormones are 

nutrients. 

26 Sol: (b) Phosphorus. 

27 Sol: (d) All of the above. 

28 Sol:(a) Autotrophic. 

29 Sol: (d) Iron. 

30 Sol: (c) Phosphorous. 

31 Answer: D 

32Answer: C 

33 Answer: D 

34 Answer: B 

35 Answer: B 

36  Answer: C 

37Answer: C 

38 Answer: A 

39 Answer: D 

40 Answer: C 

41 Answer: D 

42 Answer: C 

43 Answer: D 

44 Answer: D 

45 Answer: D 

46 Answer: A 

47 – a 

48 – d 

49 – b 

50 – c 

5 1– a 

52 – d 

53 – d 

54 – c 

55 – a 

56 -b 

57 -a 

58 – c 

59 – c 

60 – d 

61 – a 

62 – a 

 

63 Answer: (c) Homologous organs 

64 Answer: (b) 9 : 3 : 3 : 1 

65 Answer: (d) Gall bladder 

66 Answer: (a) Artificial selection 

67 Answer: (c) Africa 

68 Answer: (b) self pollination 

69 Answer: (d) For every molecule of fat 

there is a gene 

70 Answer: (a) round and yellow 

71 Answer: (c) (iii) and (iv) 

72 Answer: (b) girl 

73 Answer: (a) (i) and (ii) 

74 Answer: (b) (i) and (iv) 

75 Answer: (c) Radish and carrot 
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76 Answer: (b) the extinction of 

organism has occurred thousands of 

years ago 

77 Answer: (c) both maternal and 

paternal DNA 

78 Answer: (a) two individuals of a 

species 

79 Answer: (b) accumulation of 

variations over several generations 

80 Answer: (b) (i) and (iii) 

81 Answer: (c) 1 : 1 

82 Answer: (d) birds have evolved from 

reptiles 

83 Answer: d 

84 Answer: a 

85 Answer: c 

86 Answer: c 

87 Answer: c 

88 Answer: b 

89 Answer: d 

90 Answer: a 

91 Answer: b 

92 Answer: c 

93 Answer: b 

94 Answer: d 

95 Answer: a 

96 Answer: c 

97 Answer: d 

98 Answer: b 

99 Answer: a 

100 Answer: d 

101 Answer: a 

102 Answer: c 

103 Answer: d 

104 Answer: c 

105 Answer. (c) Spirogyra 

106 Answer. (b) Yeast fungus 

107 Answer. (a) (i) and (iii) 

108 Answer. (b) Division of a cell into 

many cells 

109 Answer. (d) (i) and (iv) 

110 Answer. (c) Multiple fission 

111 Answer. (b) Halving of 

chromosomes during gamete formation 

112 Answer. (d) P, Q, R and S 

113 Answer. (c) Chromosomes get 

halved during gamete formation 

114 Answer. (d) Y makes sperms and V 

makes seminal fluid 

115 Answer. (b) Hydra 

116 Answer. (c) (i), (ii) and (iv) 

117 Answer. (d) (iii) and (iv) 

118 Answer. (a) Fertilisation 

119. Answer. (a) 2 : 1 

 


